Instructions for Starting WeBWorK Assignments
To access each WeBWorK assignment, it is easiest to go to the Math 116 D2L page. Scroll down under the content browser and click the WeBWorK link. Then click the 

Math 116 WeBWorK Course Link
Note you can get directly to this page through the URL address:

https://webwork.radford.edu/webwork2/Math116-Spring19-NPSigmon/
To log in, click the Login button. You will get login box prompts for your username and password.


Username:  

Your login username




Password:     Initially, your 6-digit RU number
Note, you can change your password using the prompt after you have logged in. Click on the assignment that you want to work on  (your first assignment will be ma116num1). Once you select this assignment, you can either begin or select to print a hardcopy of it first.

Helpful Hints in Assignment 1 and other Assignments
1. It is best to use Internet Explorer when doing your WeBWorK Problems. Other web browsers make 
 work but are not as reliable for WeBWorK.

2. The square root of the number is entered by enclosing it with parenthesis using the sqrt function. For 

 example, to enter 
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, enter sqrt(11). Also, to compute the natural logarithm of a number, say 11,


 enter ln(11).  Enter pi for the number 
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.
3. Fractions are entered using the division / key. For example, to enter 
[image: image3.wmf]2

7

, type 7/2.

4. Exponents are enter using the caret key ^. For example, to enter 
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, enter  x^3+x^2-2.
5. .If you enter an answer that WeBWorK determines that is not correct that you strongly feel is correct, try 

 the Preview Answer option. This option can help you determine if you have left out needed parenthesis 

 or have other minor syntax problems. Proper  parenthesis are important – for example, you should 

 understand why the fractional  expression 
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 should be entered correctly as (x^2+1) / (x^3-1) but 

 why, for example, the expression x^2+1 /  x^3-1  is incorrect. 
6. If using a decimal to approximate an answer, use at least 3 non-zero digits to the right of the decimal. 


 For example, to enter 1/15, enter at least 0.0667. If only 0.067 is entered, WeBWorK would count the


 result incorrect. To be safe, enter as many decimal digits as your calculator displays.
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